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1. Do NOT open this question book until instructed by the supervisor.
2. Right after you are instructed to start the examination, fill in your program, and

identification number on the answer sheet.
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LTOR 1 MSESIZD2NTEZLTELY,
Answer the question-1 to 5.

& 1. Question-1

BIEZERTIEREZHEYE LTRYHBL, F0EE5E LTEELRIEZDOCY
HMLTITI3EP YRR I 7P— - FLIF UL —PIRELETE - REFEET
20 (A hE (B) o, 1 DBULEL, (4 5)

Christopher Alexander proposed the planning and design techniques for
creating buildings and environments as a pattern which is the extraction
of the patterns that make up the environmental elements. Select one correct
answer from the following (A) to (E). (4%

(A) ZRIR=H

B) /1By - SUF—D
C) =/S—HILTHAL Y
D A+SOFvy—

) T z2al—ay

(A)Spatial schema

(B)Pattern language
(C)Universal design

(D) Structure

(E)Human behavior simulation
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fi] 2. Question-2

IHMFRICBETSATO—LREROFAE LT, TEYULEXEE A) »5E) O
Bhs 1 OBRLGESN. 4R)

Select one inappropriate sentence from (A) to (E) as an explanation about
the urban sprawl phenomenon in land use. (4%)

(A T ARRS T ) T ICERFISHEART S &,
B)HMHDOAOIEML TLLHBETELD EMREL,
CBFTHLRELTIS,

D) L REEHEREZE L TR SNI-Ei,

(B) T F ARH T—EOHENLAEETH S,

(AYUrban spraw! is the uncontroiled expansion of urban areas into
suburban areas.

(B)Urban sprawl often occurs in the process of urban population growth.

(C)Urban sprawl is also occurring in Japan.

(D) Urban sprawl is a residential area formed through a land readjustment
project.

(E)Certain control of urban sprawl can be achieved through land use
regulations.
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S 3. Question-3
AOXEDOHTELWNWEDZ—DBUL SN, 4 F)

Select one correct sentence from (A) to (E). (4%)

(A BRI, 25 EISE T SFIKERKEISH T 2EROERDKERS
EotETHb,

(B) HXHEEL, KRPIZEENDIKERD 1 LFA— ML ELYDT S LY
TRLEHETHS,

OEEEEL . ERER 1 LA A — MLOBRICHT HKEIDEEDNL
TH5.

D HEFEENRLTEH, REMEWZEERPORFEOKERELSZ L,

(E) #A%f iR REAY 100% DERA, ENEKDEEL Y LRENMEVEICH#HNT:
LEHETEL D

(A)Relative humidity is the ratio of the vapor pressure in the air to
the saturated vapor pressure at 25 degrees.

(B)Relative humidity is the mass of vapor in grams contained in 1
cubic meter air.

(C)Relative humidity is the ratio of the mass of vapor to the mass of
1 cubic meter of dry air

(D)When the relative humidity is the same, the |lower the temperature
the higher the amount of vapor in the air.

(EYWhen air with 100% relative humidity touches a surface that is
colder than the air, condensation occurs.
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B 4. Question—4
HEHOERERRICETAIELWGRAZTREOXA ~E M5 —DBULEIV. U R)
Select one correct explanation about plants and ecosystems from the

following sentences (A) to (E). (4%

A BREEHBEOMEEE—RIZ 0~-10°COEETH S,
(B) Bk DBEZHRD 2/3 T HOHRKIETZBRILRFETHY . RWTAZUTH

Do
C)EENEMRRET/NEVDTEHABERMES, BLEREIZSITSREGRICH
FTHS.

DHEMIE., TEPDT I/ BOEI NI EZRBLTERKESELTVS,
B)7B074 LEFEXEFEEELSRIRL., ZORDEROEBLERIR
LEWLDT, ZOREREE TEORT LTS,

(A) The freezing resistance of tree species of laurel forest is generally
in the range of 0 to -10 °C.

(B) The gas that accounts for two~thirds of the Earth's greenhouse effect
is carbon dioxide, followed by methane.

(C)Since the photo-compensation point of the shade leaf is low due to
the small|l dark respiration, it is advantageous for photosynthesis in
shade conditions. -

(D)Plants absorb amino acids and proteins in the soil for nitrogen
nutrients.-

(E)Since chlorophy!| absorbs red and blue light wel| and doesn’ t absorb
purple light with the intermediate wavelength, so its wavelength
range is called the “purple window” .
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B 5. Question-5

H—hTsFToUXLMEIA) XL)ICHETIUTOHBAXOFMNS, ELWEHA
DEDE1DRULSIL, 4 R)

Select one correct sentence from (A) to (E) as an explanation about
circadian rhythm. (4%)

RNHY—hTs 7o) XALK ABOL 2P 12BEFABOVALOIETHD.
B H—ATs 7Y XLE OEICEEEZRIZET,
OH—hT1+ 7o) XLCRAFEERETEFX. RETHS,
DY—hTsFUoUXLEBZD=HIZIK, BHRESHMEICEED LAY

RETHD '
B REF T ORI LIEEBEEIY—DT TV XLEFL2BEOE
WEEIRTH B,

(A} Circadian rhythm is a human rhythm with a cycle of about 12 hours.

(B) Circadian rhythm affects blood pressure.

(C) The factor that most influences circadian rhythm is atmospheric
pressure.

(D) It is effective to wake up at different times every morning in order
to adjust the circadian rhythm.

(E) Jet [ag and sieep disorders due to night shifts are symptoms that
have nothing to do with circadian rhythm.
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1. Do NOT open this question book until instructed by the supervisor.

2, Right after you are instructed to start the examination, fill in your subject, program, and
identification number on the answer sheet.

3. Ifexaminations are not taken in the designated subject, you will be disqualified.

4.  When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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N
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FEFMAEELTWAbOLE LT, LT
DRIV 272 S\ B I3/ NUR LU 2 #7 B
FTCRLREY, (& 15K)

(1) A, BBLUOCERITBITHENKE
BRI,

QI DEEDT T v I AT 2X10%en/BT LT, ZOLBEOBEKBEEERDRS
VY,

60 cm

2 BEBXomETRULLTEBOS HHM T, HEASERENNCA~NTZLZA, K
OFRERBE SN, UTORMZEZXRE N, (%10 /)

HE (cm) 10 20 30 50 80 100 200

JE 777K EE (cm) -600 -350 -270 -250 -340 -350 -300

(1) BIEE Y THE/KSDBVEIZERRE W,

() PrBKEEOEEG 2 HFRE & L-Ee, HEKSKEOHRBESMEE#ME, g
AKOBEHFABIOCFNICELIHHERBEZEE LRI,

(3) ZEEE 30cm~50cm K 80cm~100cm THIEEOREATFTBZABREZENEN
5X 10%cm/BB LT 2X 105en/B TH D HE. HEAKDIEEE RDR IV,

3 WROBABOEELERBRICEB LRIV, (&5 )
(1) BEEEFEE AR '

2y LEE K

(3) fif =R

(4) pF
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1. Do NOT open this question book until instructed by the supervisor.

2. Right afier you are instructed to start the examination, fill in your subject, program, and
identification number on the answer sheet.

3. If examinations are not taken in the designated subject, you will be disqualified.

4,  When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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fH 1.

2.

i 3.

FERFEREPRET HDOFEL LT i-Tree BV
ELEE»OARRY—EAREMCTE 5, i-Tree THRIET 2
REHEBZRIES 2B X G OLUEREL), BIELZEHENS
ARV — EREFMET D FIEEFR LR S,

ARBRIIZEE LB, REVOLDOEFZ OB ENE X
BA. TORMMOYERBRRILOL S ITEBLT 5 EFEE
DM, BLALNWOIELLEFIZEL, ZOXIRBANBEIAHLL
HETALZEL,

SIEEENZ L - THERREEZBRAGZERN LI LITES &
IR TETWS, ZOL DR TR ERLT L 5 HIZEE
DAREOHZHIT T, FOBEEBEANMNEICOWCEHBA LR
U,
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(1)
(2)
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(5)
(6)
v

(7
(8)
(9)

250 &)

TEEEY C EEYE

TIEOAOQ)EE AR

pH (H.0) & pH(KC1)

TR DBERT VY VEERF VI v L
Ao NEL & B
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RNV EIZ BN
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